CSE 473 - Introduction to Computer Networks Jon Turner
Review Questions 24

Your Name:

Please print out this form (two-sided, if you can) and write your answers legibly in the spaces
provided. If you can’t write legibly, type.

1. Write out the complete unabbreviated IPv6 addresses that correspond to 6721:0:4a::cel:0
and ff2¢:37bd::2:c9:cel:7a. Are either of these a multicast address? If so, which one?

2. How does the hop limit in IPv6 differ from the TTL in IPv4? How significant is this
difference, in practice?



